LEE 3

B (4.17) KX, A B (4.18) X, 7T 401, NE ~ rNE 2

1 A+B+2E+2F 1 2 1 2
ry" :E{[(szl)(l Thp—(1- 7)p)22+21]}+§b1Z1 t3baZe TG TG o @17
NE_ 1 A+B+2E+2F A+B+E+F 2
R {[(szl)(l 7o (1 v)p)zﬁzl]} o) 7o G rm] 317
+§b2Z2+§C1+§C2 """""""""""""""""""""""""""" (418)
R
A=
(x2—x4) {(alxl +Ky) [(1 — 7)1 _hp)z +(1 —p)] — (K, —Ky)[(1—p)—hp(1 _hp)]}
B=
(=22 +2zi {ax[(1—hp) — 7.p(T~h)]+ (K=K )[— (1—hp) + 7 p(1+h)]}
E=
(x2 = x){[(1—=p) (1 + 7 77hp) H(azx, +K) 4 (Ky— K1) |+ 7 (X2 —%1) [~y p+yhp]
+[X =x )((Y—Ip)~23+21 ][1_ Y hp] }
F=

(—zz+z){[— v p+ 7 hp+1l=hp}{(azx; +K;)*+ (K, —K;) |+ v X2 —x1)[—yp+yhp]
+ [ =% ) (Y —=yhp) — 2z, + 7, ]}

Loy

oz,

(18K, + 12hpK, +6 7 pK, —24 v hpK, +3K; +12 7 hpK; —9 v h?p?K,

—24 5 *hp?K, + 15 7 “h2p?K, — 6 7 h2p?K, + 12 7 “hp?K, —9 7 “h?p?K, — 18pK,
—9hp2K, —9 7 p?K, +24 v hp?K, —3hp?K, —6 v hp?K; +9 7 2szz +6(hp)?K,
—9 v K; —3(hp)?K, + 12 v K, +6 7 pK; +2hp?K, —6hp?K; ) x,

+ (—18K,—67 pK, +24 7 hpK, —3K, — 12 7 hpK, +9 7 h?p?K, +24 7 “hp?K,
— 157 *h2p2K, +6 7 h2p?K, — 12 7 “hp?K, +9 7 “h?p?K, + 18 pK, -+ 9p?K,

2 2
+9 9 p2K,—24 v hp?K, +3 hp?K; —3 7 p?K; +6 v hp?K; —9 7 p?K,+37 p3K;
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+ (18K, +6hpK;) z,

+ (—3hpa, +6—127 hp—67hp—6 7 “hp?a, +37 “h*pZa,+67 h?p2+127 yhp?
—6 7 ‘gh2p?+67 7 h2p?+3pa, —3hpZa, —3 1 pa, +6  hp?a, —6p+6 7 hp?

67 9p2—127 Fhp2 +67hp?+3 7 “p2a, +6 7 p—67 hp2—6 7 -§p? —6 7 hp?§
7 9P 7 hp?+6yhp?+3 v “p?a; +6 v p—67 hp?—67 "yp?—6 1 hp?y

+3(hp)*a; —3 7 a; +6 7 hpa; +6 7 yp) X3

+ (—6a,—6 7 a,+6hpa, +6pa,+67 pa, —6hp?a, +6 vy yp—6 7 yhp—6 §+6yp
+67hpy—67hp?§) x5

+ 622

+ 622

+(3hpa; —6+12 v hp+ 6y +6yhp+6 7 h*p?a; +6 7 2hp2a1—3 ¥ 2h2p2a1—6 ¥ 2th2
— 12 237hp2—|r6~/ zyhz 2—6y v h?p2=3pa; +3hp2a, +3 7 p%a; —6 7 hp?a, +6p

2 G2 = 2 — — 2 2 2 2 2 2_ 2
—67hp”—67yp”+24yyhp’—6yp~6yhp“=3 7y pa;—6yp+67 hp®+67 yp

—3(hp)?a; +3 ya; —6 7 hpa; =127 yp+6a;+ 67 a,—6hpa, —6pa, —6 7 pa,
—6hp?a, ) X;X,

+ (—12+ 127y hp+12p—12 7' p) X, Z3

+ (12—12yhp—12p+ 127 p) X,Z»

+ (6—67hp—12p+12y p+67 pa,—6 7 hpa, —6a, +6hpa, +6 v yp—6 7 yhp — 6y
+6yhp) x,7;

+ (—=6+67yhp+12p—127 p—617 pa, +6 7 hpa, +6a, —6hpa, —6 v yp+6 7 yhp
+6y—6yhp) X,7,

— 1222, = 0 (424)
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